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Precalc Test Review (1.4-1.9) Name HEY

I. Use interval notation to give the domain and range for each of the following relations.

1. T 2. 1
- (3.2)

N

D! (-®, 1] R LO®) D' C3,89) pJ.I:-2Jo°)

£

-5

II. TIs y a function of x? Defend your answer with a mathematical reason or counter example.
£ Funetion Fuhction NOT AFunction » Funchon
3. 3y+2x-19=0 4£ abo{vse c@r 5. éZ above er 6. 2x"+y=9
3y=-2X+19 SSTS VERT. AILS VLRT. ==2X%3¥q
= Line test Line test ERcH) nput has exacHy

III. Determine the interval(s) in each of the following functions for which the function is increasing, one W
decreasing, or constant.

7. (43 73) 8.

N/ 7T

TN FAREEBERRRRY

INC!
(3.-4)
(-7) "-‘f) v l3,7’ bdec! (_q,a) INC! [-%"‘I) fon: (-‘f) 3) bec:" 3,@)
IV. Determine algebraic: er the given function is'even, odd, or neither. Show all work! oDD
9. f(x)=txt—sx241 |CVEN I 10, f(1)=-3+21 +4 nﬂ"*"“" 11 h(x)=5¥"=3%
£-Xr= BEx)-SEXH f(-4) =-3(-e)3 + 2L DR 3%
= -5)2%24| = = 3¢ +2t%4 B ~
4 x4 -5x%2+1 = £(x) 3 o4y = —5x5 +3%

V. Identify the parent function for each transformation shown. Write the equation for each graph. ~ _ -h {X)

12 | PLXI= X3 13. }
/‘/ £x)= X3+ N P

I hix)=
/ il \ - | ¥+2] +/

VI. For each function, find the zeros algebraically. Write your answers as ordered pairs.

14. f(x)=3x" +13x+10 15. h(x)=2x* +x* —10x
(3X +10) (x41) =0 X (2X*+ X -10) =©
3X+10=0 \ X+|=0O X (2X +8) (X-2) =0
= -10 ‘ X=-| X=of :’,&:[5}-0.? X=2
| fx=-5
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* 5¢¢ WORK oNn Next Page

VIL Given that f(x)=x"+1, g(x)=x-4 and h(x)=[-2x], evaluate the following. Simplify if necessary.

6. (f+o-d [ 7. (f-g)i-D s (s3] [o
t2-3¢ +7
19, [iJ(O) 20. (fog)(x) 21, (g0 /)4)
-4 X2 -8X %17 13
VIII. Given the graph of f(x) at the right, sketch each of the following, labeling any significant points.
Lix) 22 g(x)=71(x)+2 \ ,l\
" EEENBERREE
| e o A
0 ! I L 1
) 8 O T O T O O O O
£1) 23 h(x)==}j(x—l) X+ 24. {(x)g:—f(g—x)
X \ (NEN
-3 L
=2 |0 A
i | év‘i\‘?‘ ‘!~s~;\
4 o / e X
IX. Show that f(x)=3-4x and g(x)= 3-x

are inverse functions:
26. algebraically using the definition 27. graphically (and label at _le_z_l_s_,&
: 3

points to demonsirate)
£09x))= 3-# (3K) = 3-130) = XV T ) 9x)
9(£(x) )= 3-(3-9X) = 4% = x v
I’

X
oM o3 3e
graph: £(x) =-4x+3 \

X. Determine whether or not each of the following functions has an inverse. If

it does; find the inverse.
28 rx)=— J 29. wx)=V2x+3 V<£3- passes HLT. ,%’_,
x
X y= Jaxa3

Y
—— - - 2-‘
-2 -‘!; ¥ FARS Horiz. ke test| (X)? :(U 2y+3 )2 J= )..(_5.2
11 Does not have an 2 _ - 3
0 l:lndef. invecse funehon. );2-32-2.4:23’ £Ux) = X;.?v
21 g NOT one 1o one. )
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1) (£1+4)1-2)
£(2) = (-2)*+1 =5
9¢-2) = -2 -4 -G

€(-2) + 9(-2) = 5+ ~( =~
17) ($-9)(£-1)
Fle-D= (-2 +1 = (E£-D)-D* +] = t2-2¢t41+]
=Ct2-2t +20
gle-) = ¢-1-4 =t -5
flt-)-g(t=1) = t2-2¢+2-1+5
= [t*-3¢t +7
18) (h-9) (=%

)
he%)=D0-204)] = L4] = o
gl-4)= -4-4 = -4.25
h(-%)- 9(-%) = o(-4,25) =|0O

1) ('30 (0)

Flo) = 0%+ = ( glo)= 6-9 = -4
o) o 4+ - [od
) -9 4

20) (£0og)(x)
Ll9tk))= FlX-4)= (X-Y)2+1 = (X-4)(X~%) + 1
= X2_8XA4l £1 = [X2-8X 17
2)) (gof)(-4)
£(-4) = (~4)*+] = Wt) =17
U = 17-4 =[13
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